Subject: Re: DCL1 finished
Posted by Kilian Schwarz on Mon, 21 Apr 2008 11:23:05 GMT

View Forum Message <> Reply to Message

Hi Paul,

thanks a lot for the great work you did.

Why did you put the RUNNING distribution in the Wiki ?

If you put the DONE distribution it looks quite different. According to the DONE of last week in
ML GSI computed about 50% of the jobs, while the other sites shared the other 50%. Ateneo
contributed with almost 6%, which is great with 10 machines.

What was the main reason why the STT jobs did not work ?

Also in the full_dc quite some jobs seem to have failed. What was the main reason here ?
All'in all we seem to have close to 50% error rate, which needs to be improved, somehow.

Cheers,

Kilian
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